HIIEIEZR AR S)

SHINE WEI ENT CO., LTD.




MF-HT & %]
MF-HT SERIES

Overview

® Type : MF60HT~MF120HT
Backlash : <6-8 Arcmin
Ratio : 1/1~1/100
Capacity : 0.05KW ~ 1.5KW

. MF6OHT ~MF120HT
R <6-83%

: 1/1~1/100

: 0.05KW ~ 1.5KW

SHine WE



n AEMEETHE-MF60HT~MF120HT

ALk

KHT A& & M W %8k & & 4 8 1L &4
BEMBHATREEHSESEGDER
Lt L -

o L EPRIAE WM RERAR
* LCD#e Mt i » i 5 R ek W AT (4 8y 55
#HE--%

e e 25
UL SR © M441754

ST A EE R R EE S L e LA f

WlR o PO
A 0 P s e S T s s
T e

RN

(s A B RS il] + E R R T - Hi
M R

(E i o il - AR R

H AT 25l (KHT-H) - WU B (RHT-S1)
B (KHT-52)

i RIS S - e e a e - &
P i e R
R T, LA i 1 o e (R

2
PR — M S S A A e e S R
b

ST
S R S WA RE R
VR Bl R
EERIE SR « HEHATL AR B RN
MFLEE AT SR S o i R i et
TR

| B
WS R — R R - P
R WigHERE AT Ll

5 Adyih
L T R 5 W (RTIIR F  4 o
P e S
o JCEE
FEFIMER (Eatat « U5 5 (a1 L G SR A 15
0] T Ll e e o SR bR iy R -
el R f A L

Sune WE




= MF-HT @ £50- 48R

EREL |WEtk()| MFGOHT | MF90HT | MFI20HT HE MF60HT | MF90HT | MFI20HT

I 15 58 114 15 58 14
- - - : 20 58 14
15 58 114 25 58 114
15 58 14 30 58 14
15 58 114 35 58 14
SHEH L BEE(Nm) 15 58 14 40 58 14
58 114 5 58 14
: - 50 5 14
- - 10 58 14
- - 100 5 14
REREWILE LOLI 14-24 1624 | L2 | 15~100

EAHHEEENm) | LOLLL2 1L5fEEREH LEE(Nm

BEEWMAEZErpm)| LOLI 3000 3000 L2 15~100
EEEFRK(arc-min) L0 = <6 =6 L2 15~100
E#EF K (arc-min) Ll =<8 =8 - -
BFEEA(N) L0 1220 2080 L2 15~100
BEFREA(N) L1 16898 2900 = - -
BEFENE S (N) L0 610 1040 3~100 844
(%) 95% 95% 95% L2 15~100
B52(kg) L0 1.85 429 9.05 L2 H 235 16
5=(kg) L0 1.98 4.65 9.60 L2 S1 248 795
=8 (kg) L0 2 471 9.77 12 s 25 801
B52(kg) L1 2.05 0.47 13.8 - - - - -
5=(kg) L1 2.18 0.83 14.41 - - - - =
B=(kg) L1 2.2 0.89 14.52 - - - - -

08 (L0)

- o |-10°c~ | -10°C~ | -10°C~ -10°C~| -10°C~ | -10°C~
EREEOC M0 J90ec | +90°c | +90°c | +90°C | +90°C | +90°C

FhEEE R 1~10 IP65 IP6S [P65 W) [P65 [P65 IP65

958 ~]) |EMEEE| SRESE | SRESE | | GHEGE |EHESE | ARESE
ESLEL ERigmis| 2REgimis | 2REHE BBl | BEEmiE | EREHE

ZEHE I~0 | EBsE | £85E | £3A5E | L2 B EEAM
L0 1 =7 =76 =79
LI 3~10 =63 <65 <65 L2 <65

I {E1500RPM(db

1. Sl B B et (R L) RHRRIASUAR: , LS o Y 5 R0 5 LI B il 15 2 B e

2. PBORLL 1 =t AR /i R

3. A : FR AR BT i TR TR R s

4 S KA1 J3 Beame R A3 < e 33t 1 O S S RsIS 0% #5100 pm , (6P R RIS 2 Bihs: .

5. ERE R <60%IRIL T 82 I 35 v An 91 S Wb s B BB IYI>=60% & SHEHEIE 2P X i 35 & vl RE & REIK 2 IE R IM50% AR
6. MR - e AV R, 22 RORE BUCHR AEE O TR Z BB

Sune Wel




= MF-HT [R5

AR

MF60HT

T 5,

MF60HT
MF90HT
MF120HT

P

B ¥

LO(AR 32 tb %0
L1(— &)
L2(= &)

H B
H=t % i
SI=% i 7
S2=4 i 7

ARG & FE
7 & By B ~ B3R
b BiER - it
L & %1518

EhEY -
S: BAEAT i
K: B hsgit

%

. R B BAR PE

— Bk b

Z B AR FE

MF60HT

3.4,5,7,10

15,20,25,30,35,40,50,70,100

MF90HT

3.4,5,7,10

15,20,25,30,35,40,50,70,100

MF120HT

3.4,5,7,10

15,20,25,30,35,40,50,70,100

SHine WE




P.C.D#D6

(LO,L1,L2)

2C1(H6)

#C2(H7)

P.C.DSDE

#C1(H6)

P.C.D8C3

&

P.C.DSD6

(LO,L1,L2)

2C1(H6)

#C2(H7)

SHine WE




» MF-HT #E@RIIHE R~TE

Symbol & Size [60HT-S1.S2| 60HT-H [90HT-S1.S2 120HT-S1,S2| 120HT-H
DC1 6~14 6~14 14~19 16~24 16~24
DC2 50 50 70 70 110 110
DC3 70 70 90 90 145 145

C4 M5x0.8P | M5x0.8P | M6x1.0P | M6x1.0P | M8x1.25P | M8x1.25P
C5 33 33 39 39 65 65
C6 13 13 15 15 28.5 28.5
C7 7 7 7 / 20 20
C8 4 4 3 ) 7 7
DC9 80 80 120 161.4
JC10 60 60 92 92 122
DD1 13 13 18 18 22 22
D2 M4x0.7P 30 M5x0.8P 30 M8x1.25P 35
D3 12 30 14.5 30 22 35
DD4 20 20 28 28 35 35
62 62 88 88 108 108
/76 76 145 145
D7 M4x0.7P | M4x0.7P M8x1.25P | M8x1.25P
D8 2 2 2 2 2
D9 13 13 15 15 15
D10 70 70 126 126
D11 62 62 92 120 120
D12 25 25 40 50 50
D13 25 25 33 42 42
D14 22 37 42
D15 48 48 65 78 78
D16 70 102 120
H1 ) 6 6
H2 15 20.5 245
H3 2 3.5 8
H4 16 25 25
LO 101.5 101.5 141 141 198
L1 130 130 185.5 185.5 254
L2 146 146 213 213 287.2

1.C1~C10 BB EREERRR T RIKERARBEMNE, ANFBETHRUMRE 1515 -

Sune Wel



LT R

¥ + +4 4
L -

e
-¢_+.|-|.~

-k
*

Ed

Ll
bbb
e
e Ll AL
SRR
e [
Bas
&#
-
o
= 22
i
i

A

4 e

W,




